No. 1T BF 400m HBHHERF B A LR

2R45

2 3:55.84 X% 3:58.81
148 &g B R
1. hE KB (hddppsc ) H2 T 4:5595
2. B R (ZARE®R ) B2 6 4:52.64
3. XE 0.8.C ) 5 4:52.51
4. ) F=th  GIFWMES ) =1 1 4:29.77
5. ¥ mE  (GIF#ES ) =2 3 4:39.02
6. SBEDN (HES &T ) H3 2 4:37.35
1. #iK BKX (@aF=KH ) H2 4 4:50.24
8. FHR EA (KpAWss ) /N5 8 5:16.10
2% &I B
1. #K Bt (SACOT ) $12 8 4:34.12
2. B EF (€3 (=F:53109 ) 31 3 4:19.42
3. X% &, GEARE®R ) 83 4 4:21.10
4. EH B¥ (RoEHEEs ) 32 1 4:09.21
5 @Il FE  (bhdHHSC ) =3 2 4:14.44
6. T MmiE (KHWSS ) 32 7 4:30.91
1. REBEBAE  (KoMEHes ) =1 6 4:30.67
8. %% xiE (AHES&T ) 3 5 4:27.94
No. 2 BF 200m Fx&F B A LR

22X

B2 2:10.23 x& 2:11.97
148 &g B R
1. B MK @EAREKR ) &2 5 3:16.28
2. Bk WA (3FIKHL; ) ®H2 6 3:22.57
3. X Ex (WAxsc ) /M6 4 3:06.22
4. SREZN (luAxsc ) ®H2 1 2:56.24
5. &2 HE (hhdbpsc ) i ZiE
6. B BHE (XY ZBIRF ) ®H2 3 3:04.68
1. N BN (DKHJISC ) /N5 2 3:03.77
8. JEE &3 (LA JSC ) /N5 T 3:29.98
24 &I B
1. #8] AKX (KHWSs ) 1 5 2:49.48
2. = WRE (IWAXsc ) ®3 6 2:51.04
3.k o/ CGRAREB®R ) &1 3 2:41.4]
4. g K5  (ROHEHES ) B2 2 2:41.05
5 XA AR (EAREKR ) =2 1 2:40.85
6. EBIIIE (hddppsc ) H3 4 2:49.35
1. %N fE| (TST ) 2 KHE
8. /K kK  (#-7ST0 ) N6 T 2:57.46

348 g B
1. #HE BHA (XYZRIF ) &3 6 2:29.71
2. &) (BIFFAEE ) &2 5 2:29.05
3. B W (WAvATELS ) 3 3 2:19.00
4. ZH #HE (L,AJ'E'L\SC )y K4 2 2:17.60
5. it EE (KpiEmEsS ) &2 1 2:17.25
6. HE B (XYZEUH’T ) B2 4 2:19.04
1. IMEF EEK (D<AHJSC ) 3 8 2:42.91
8. BB X# (K#ES S )y 2 7 2:40.82
No. 3 EBF 200m nNE2I754 B A LR
2RX45
2 2:00.12 X% 2:03.28
148 b= ] Bl
1. ( )
2. ( )
3. &HE #t1 (W#4vAE4S ) &2 3 2:43.04
4. BB B (luAxsc ) #3 1 2:33.99
5. FlF MEA (DKHJSC ) H2 2 2:38.88
6. ( )
1. ( )
8. ( )
248 g B
1. ( )
2. B K- (K#ES S ) B3 6 2:30.28
3. R —H (KHi#EwEsS ) &1 3 2:10.65
4. NI £th (&R ) =12 2:05.49
5. &% EB— c;aﬁmz ) B2 1 2:05.48
6. AE & (RoEEs ) &2 4 2:17.54
1. BE & (,iﬂﬁ.a.h ) B3 5 2:27.39
8. ( )
No. 4 BF 200m &Hik&E B A LR
2RX45
2 2:07.18 X% 2:07.59
b= ] Bl
1. W& #ht (f¥Fwater ) KR
2. K HH (DHJISC ) &2 5 2:40.30
3. R fB® (EAS&T y 1 2 2:19.27
4. BF F+ (KpiEEES ) &3 1 2:17.92
5 1% B2 (W$vAtt{4 ) =2 3 2:29.11
6. it #  (KHpWsSS ) 1 4 2:32.00
1. ExX RE (#-7ST0 ) B2 6 2:51.29
8. &R H BAREB®R ) &2 T 3:28.06




No. 5 EBF 400m {@EAAFL— B A LR

2R

2 4:23.53 K& 4:24.75

EE R ]

1. R ®TL (Komes ) &1 1 5:30.79
2. Alu /E (€3 (=F:3:77 ) =3 3 4:58.43
3. XE 0.8.C ) 8 5:44.86
4. iy BE (Romes ) =2 1 4:46.44
5. RER—HR GZEARB® ) &3 2 4:50.53
6. BRI (hhdppsc ) B3 4 5:01.49
1. WWT  f#hiE (WAYvATE4 4 ) 1 5 5:20.97
8. WH ImE BIFFAES ) =2 6 5:21.37
No. 6 BF 100m HBHfHW B A LR

25

72 49.76 K& 51.02
148 &I B
1. ( )
2. ( )
3. it BA (Kp@Wss ) /M3 1 1:26.33
4. FXRKFRKER (WAYvATE4 4 ) /M3 1:28.49
5. i # (LE5@S-C ) M6 2 1:26.71
6. ( )
1. ( )
8. ( )
248 EIE R
1. K Bz (SACOT ) /M3 4 1:24.67
2. A% R (Ls@S-C ) /M6 1 1:14.83
3. % MK (XY ZRBIRF ) /6 2 1:17.06
4. miE KE (Kp@Wss ) /T 1:27.56
5. BIREKER (rEFXkE ) N5 6 1:25.60
6. &k I (hhdprpsc ) /N3 3 1:23.62
1. kB 1% (KHWSS ) /58 1:33.90
8. WH 4R (#rEHFkXkE ) M5 1:25.30
34 &I B
1. EH S (hhbwsSc ) &1 4 1:20.24
2. A% W& (K#ES S ) M7 1:24.01
3. &k 2 (Kp@Wss ) H1 6 1:23.89
4. ¥R ETF (K#ES S ) /58 1:31.22
5. thld HH (XY ZBIRF ) /M43 1:18.46
6. Mk R (KHWSS ) /M52 1:18.28
1. &M %A (LA JSC ) /55 1:20.39
8. XH Z=TiX (XY ZRBIRF ) /51 1:17.45

44

Sl i

>

© ~ o o

548

© N oA wd =

68

®© N ook =

7 #8

© NS R W=

il
TTES
ik
faiE
AT
i
]

M

1N
=M
K
G
PR

XE
fiE] Ly

mR
Tz

£z #

hE
AEF
Wt
FH
LR

RO
a%
BE
T%MH
WA

£y

25
N
#hin
BE

B
—3
ER
ettt

AHE
ot
e

b
BA

#A 3T
rE

EHE
EZON

i
1’z

3
o3l
F
=854
/A_

—X

=t
e
EP/N
B4

s

EH

AR

xR

A

(LUAJSC
(S Proret]
(fFwater
(XY ZRIKF
(SACOT
(XY ZRIKF
(Kahiss
(LuAJSC

(XY ZRIKF
(ar=zXkyn
(S Proret]
(Kahiss
(KHMsSs
(WE$vAtt{4
(aF=Kn
(ESroret]

(XY Z3IRF
(SACOT
(AES&T
(hh&Hrpsc
(k@S- ¢
(S Provet]
(XY Z3IRF
(hh&Hrpsc

(hh&Hrpsc
(XY Z3IRF
(K#ES S
(W4$vAtE44
(EARBK
(hhdmrpsc
(K#ES S
(ZAREK

— N —

INS
D

H2
INS
H1
NG
Ihh

IS
NG
#1
H1
)
H1
N
INS

H1
#1
#3
#2
#2
#1
H1
NG

NG
#3
=1
H1
=1
#3
#2

=2

i
=

¥l

10.

18

13

24

7.

03

:09.

10

10.

19

:15.

20

14,

12

Gl o |d|wWw| — |00 A~ N

13

64

ik
=

=TS

:06.

50

:07.

12

:05.

64

:06.

10

:06.

91

:08.

11

:06.

13

CON N O —= O w

:09.

24

i
=

¥l

:06.

54

:00.

60

:05.

64

:03.

34

:07.

48

:03.

96

04,

24

O AW NN = O

RO QS (UGN [NIIQH IIGN [ gy

:07.

16




No. 6 BF 100m B B A LR

2R45

g2 49.76 X&  51.02
8#i &g B R
1. BtiE I (hddppsc ) &1 7 1:03.84
2. 8@ =X (K#ESS ) H3 6 1:02.38
3. il #H GEARE® ) &3 3 1:00.61
4. BR =KX (EEEHE ) =11 58.76
5. 0 MmH (ESPPvvit] ) ®3 5 1:01.92
6. K BE& (QF=Xs ) F1 2 1:00.49
1. B BX  ($VAtHS ) =1 8 1:04.81
8. BREDN (HHS&T ) H3 4 1:01.41
o9# &I B
1. %% x#E (HHS&T ) H3 5 58.18
2. &8 KK VRt ) 2 8 1:00.26
3. X% & (FARB®R ) &3 4 58.14
4. B I (WAYvATE4 4 ) $3 2 56. 63
5. M #— (FARB®R ) &2 3 58.10
6. B &N  (EEEBRE ) =2 1 55.93
1. ki FWw (XY ZBIrF ) ®3 7 58. 82
8. B XE GEARBER ) &2 6 58.34
10# &g B R
1. ®JIl F&E (hhdHwsSCc ) 53 6 57.04
2. % FME (WHUATE(S ) 2 7 57.58
3. R R VAT ) &1 2 54,48
4. BB B O (XYZRIEF ) K11 50.90 K&#
5. @ &®iE (K#ESS ) &2 5 55.58
6. B EE (XY ZBIRF ) ®3 3 54.58
7. 5% E#f (K#ESS ) Hh2 4 54. 62
8. AR BEX (LA ) =18 57.59
No. 7 BF 50m FkE B A LR

2R45

R 28. 44 K& 2874
148 &I B
1. ( )
2. ( )
3. R¥ EERE  (LUAJSC ) /M4 1:05.70
4. BH HEIE  (KESS ) N2 2 56. 91
5. k% A (fEHS C ) M3 3 57.63
6. @M XEFE (GIF#EEE ) =1 1 39. 67
7. ( )
8. ( )

248

®© N ook =

3#8

© N oW

448

®© N ook =

548

© N o R W=

£k \E
E D&
A Bt
FF BETR
ME —R
En Ik
¥EH %KX
®E F2

HE Rk
M R
e (I8
e

Ml
WF H—
=TT
PR EH

IR EH
EH

YR
pr N
wnH FiE
¥EH EF
[REAAER
Ik BW
&3 &t
A+ TEHKE

WA HEA
W 2T
R KA~
mA X
N A
wE
R WA

Bk
IE &5

(XY Z3IRF
(hhdHrpsc
(LA JSC
(hh&Hrpsc
(XY Z3IRF
(#-7ST0
(K#fEs s
(S Proret]

(EES-C

(XY Z3IRF
(a+rzksn
(WAscC

(KHhiss
(SACOT

(S Proret]
(Kamss

(AES&T
(LuAJSC
(HFEFXR
(KBS S
(#ZSS
(hhvdhrrwscC
(Kahiss
(LuAJSC

(S Provet]
(ESroret]
(KA ERI5
(Kahiss
(2<H#JISC
(ES vt
(ZARSK
(AES&T

— N N

IN2
N2
IN2
D
IN3
b
IN2
N3

N6
INS
Ihh
N
N4
N
N2
N3

H1
b
NG
D
H1
#1
NS
N3

Ihp
H1
=2
H1
D
INS
=2

1

&R

(=7}

=TS
57.21

K1

53.17

55.29

50. 57

54.43

:00. 69

N N B = 01w

52.36

i
=

B ]
51.02

47.86

51.57

:00. 04

51.31

56. 94

53.98

NN &~ oo — W

49. 49

ik
=

=TS
43.26

47.10

46.02

50. 38

4414

48. 26

45. 46

~N W SN A~ —

48. 86

i
=

B ]
44.82

41.61

43.03

44.16

38.90

42.83

42.79

W A o= g N

42.33




No. 7 BF 50m EkFE B A LR

2R45

g2 28. 44 K& 28.74
6 #H & B B 24
1. WX EBExL (ks c ) N6 T 40.59 1.
2. ity fEmE (BAAREHKS ) 2 38.40 2.
3. &R RB WHVATE(Y ) /M6 5 38.98 3
4. BREZAN (WAxsc ) 2 1 36. 63 4.
5. BAR 184% (WAYvATE4 S ) Bl 3 38.50 5.
6. &K kB  (#-7ST0 ) N6 4 38.85 6
1. B8 HE (hhdHwsc ) Hi ZiE 1.
8. /N EW (HHS&T ) 16 39.89 8.
7% &I B 3#H
1. E8 m#E (#7870 ) 3 4 36.23 1.
2. HAEHN (KESS ) B2 6 36.93 2.
3. =i WE  (uAxsc ) 3 2 35.58 3.
4. BB K (KEES S ) ®2 1 34. 46 4.
5. %% W (ZSVrvrit] ) ®3 3 36.13 5
6. R RBAX (KHmWmss ) Bt 7 37.32 6.
1. RBNIEM (hhdppsc ) ®3 5 36.78 7.
8. ImHE £ (K#ES S ) /N6 8 41.23 8.
8 #H & B B 448
1. B8 —iF (XY ZRBIRF ) #3 6 33.56 1.
2. g ¥E  (EEER ) &2 5 33.26 2.
3. FHE A (€3 (=F:53109 ) &2 3 31.54 3.
4. Kt —E (Rom&Er ) 2 30.76 4.
5. HE EBH (Xyzilig ) &2 1 30. 24 5.
6. N HK (DKHJISC ) F3 4 33.07 6.
1. &L 8% (HHS & T ) #H3 7 33.717 7.
8. ik #th (XYZRIF ) =3 8 33.83 8.
No. 8 BF 50m NH IS4 B A LR

2R45

g 23.65 K& 24.98
148 &I B 5%H
1. ( ) 1.
2. RE FAB (K#ES S )NV K¥E 2.
3. *kEE 2 (WA4vREE4 S ) N3 2 46.14 3
4. bt # (LES-C ) M6 T 45.97 4.
5. £% BEA (LA JSC ) N3 4 53.94 5
6. £F Kk (WAvATE4 4 ) N2 3 46. 60 6
1. k% ®A (jBE S C ) /N3 5 1:01.37 1.
8. ( ) 8.

1TP:S
=l
%k
5K
A
M
BE
AKX

&k
AL
aR
=3

F=1:14]

=S
25
2

ZS
W&
ki3
PN

=

—3

&
=&
%05

R 3L BRIKER

AR
mE
HE

i
B

e

Z_HWZER

+%

’BE

EEAER

%
X8
E#
®k
FAt

Ll
£H
=g

Lk
5%
INEF
3
BHHE

e

2
et
R3A

/IA\_

BEX
1%k
B

B&

L)

(LLuAJSC
(LuAJSC
(Kahiss
(hhvdhrrwscC
(K#fEs s
(LuAJSC
(AES&T
(KHMsSs

(XY ZRIKF
(SACOT

(arzIXsy
(XY Z3IRF
(arzIXsy
(HFEFXR
(S Proret]
(XY Z3IRF

(ESroret]
(a+rz=zXksn
(SACOT

(S Proret]
(luAxsc

(S Provet]
(RHgEEs
(XY ZRIKF

(S Provet]
(ZARSK
(hhvdhrrwsC
(ar=zXkyn
(KBS S
(ar=zkyn
(S Proret]
(AES&T

— N — N

N
/b
H1
NG
N
%)
N
1

1
INS
1
NG
1
th?
I\
INS

H1
H1
#3
#1
#3
$2
=2

H1

=1
=3
$3
H1
$3
#3
N
#3

i
=

B ]
38. 66

34. 94

32. 61

32.00

34.76

33.17

36.20

~N oW s~ = N1 oo

38.12

ik
=

=TS
33.19

31.02

34.22

30. 68

30. 32

29. 81

33. 45

Gl N[ = N W oo A~

32.18

i
=

B ]
31.15

31.03

28.99

29.04

29.92

29. 86

30. 36

SOl W BN — J

30. 51




No. 8 BF 50m NE2T754 B A LR

2R45

g2 23. 65 K& 24.98
648 &g LS| 4%#8
1. &R Pl (D<HJISC ) EiE 1
2. FR EZ (KHmsS s ) &2 5 27.95 2.
3. B E— ZFARE®R ) =2 4 26. 86 3.
4, BFEKE  (XYZRF ) &3 2 26.06 4.
5. AiT £#h (EaEER ) &1 25.90 5.
6. ZHELRE (XY ZBIrF ) ®3 3 26.76 6.
1. 385 &% (3aF=KHp ) $3 6 28.53 7.
8. ##H =EKX (K&ESS ) 3 7 29. 64 8.
No. 9 BF 50m EHikE B A LR

2R45

g 26.72 X&  26.72
148 &I B 5%H
1. ( ) 1.
2. ( ) 2.
3. kHF FE MUt ) N2 2 55. 69 3
4. HE B (XY ZRBIRF PR\ 55. 21 4,
5. ¥H KA (K#&ESS ) /N2 3 1:03.93 5.
6. B E& (K#ES S ) /M4 1:06.07 6.
7. ( ) 7.
8. ( ) 8.
248 & B B 6 #f
. &Il M WAYVATE(S ) N2 3 52.38 1.
2. &% & (hhhpsc ) /M2 4 53. 40 2.
3. A BB (K#ES S ) N2 2 51.30 3.
4. "EA =X (XY ZBIFF ) /51 42.90 4.
5. L@ #&F  (LUAJISC ) N2 8 59.99 5
6. it FEA (KpAWss ) /N5 54.18 6.
1. ’% ¥®A (fEE S C ) N T 58.70 7.
8. A XX (KESS ) N2 6 56. 08 8.
34 &I B 7 %8
1. B3 H®EE (KE@ESS ) N2 4 48.89 1.
2. £H FEKk (WAYvATE4 4 ) N2 3 47.79 2.
3. BB B (bhdHsc ) 1 T 43.67 3.
4. Wik #hth  (FFwater ) k¥ 4.
5. WARKERRER  (W4VATE(4 ) M6 49.27 5.
6. EiZ I (XY ZRBIRF ) M2 44. 21 6.
1. N8 EX (WA4vREE4 S ) /M55 49.18 7.
8. AIREKXER (FETXE ) N T 49. 60 8.

FH
b SV s
EB B
5% ER
=f
e
Bx =
=% ®mA

BEAR

L B
A"k

=]
L VN o
Wi —X
EERTNT
JB 3L EEKER
A RE
A K&
WA it

Fik

HFEEXEX
BEA RAE
FX B4%
=8B
L i
£ Bk £
mE
&t

o
S
jEh

[

AT B
(ST L
ng =
HE AE
NP TRk
AR K
&2 A
A8 shE

(hhdHrpsc
(KHMsSs

(hhdHrpsc
(KHMsSs

(LLuAJSC

(XY ZRIKF

(ZARSK

(LuAJSC

(lukxsc
(hhdHrpsc
(hhvdhrrwscC
(AES&T
(a+rzksn
(AES&T
(LS -C
(luAxsc

(Kahiss
(XY ZRIKF
(ESroret]
(A@AS&T
(k@S- C
(S Provet]
(ES v et]
(KHMsSs

(KHMsSs
(HFEFXR
(S Proret]
(ROHES
(XY ZRIKF
(RO EEIE
(KA ERI5
(K#fas s

— e N — N

—

INS
D
N3
)
NS
N2
=2

Ihh

NG
N
NG
NG
1
th2
1\6
NG

INS
D
)
th3
th2
NG
INS
1

i
X3
=2
=1
=3
=1
=2

NG

i
=

B ]
46. 39

39. 65

38. 66

39. 80

38.39

38.55

38.49

~N N W —= o~ 0o

45.01

&R

=TS
£iE

38.07

39. 85

34.54

35.55

35. 63

36. 85

Gl AW = o

37.13

i
ﬁ

B ]
31.60

31.95

31.35

21. 61

21.82

32.90

34. 44

WO NN = W o

37. 81




No. 10 BF 200m {fEAAFKFL— B A LR No. 11 BF 200m HHEF B A LR
ER5 2R
2 2:00. 30 K& 2:04.59 2 1:49.13 K& 1:50.85
148 EE B 148 &EE =]
1. ( ) 1. ( )
2. ( ) 2. ( )
3. WX &+ (Il4AJSC ) /M3 3:14.43 3. K B/ (XY ZBIKF ) &1 1 2:25.90
4. BiE Bk (hhdHSc ) /M6 1 2:56.07 4 A H (DK HJISC ) H3 2 2:2848
5. & X} (RHmss ) N5 2 3:13.73 5. R EBEA (KaMmsS S Yy N5 3 2:34.03
6. ¥k #hth  (FFwater ) ZiE 6. ( )
7. ( ) 1. ( )
8. ( ) 8. ( )

2% &I B 248 b= ] Bl
1. Bl ERK (WAYvatE44 ) N5 T 2:59.70 1. KA =% (hhdHWSC ) /6 6 2:23.58
2. AR 15RE (XY ZBIKF ) /6 6 2:36.45 2. t% BE (arz=Xn ) =i 2 2:18.10
3. BB X#H (KFES S ) $12 4 2:34.11 3. B HRiD EFARS® ) &2 1 2:17.71
4. 18R E£K (K#ESS ) &1 5 2:34.31 4. FEE AKX (RO EEIE ) B2 4 2:21.83
5. A &# @arzke ) 3 1 2:30.48 5. O M (Wa4vatt49 ) F3 3 2:19.64
6. AR Hx (Ke#EmEes ) &1 3 2:32.65 6. HE KB (bhvppsc ) 2 5 2:22.59
1M & (KHPWiss ) &1 2 2:30.62 1. BE InE (bhdrwsc ) &1 T 2:24.00
8. WX HEA (P2 yr ek ) /N5 8 3:05.13 8. ( )

3% &EIE B R 348 &I B
1. %% 28  (WAYati(s ) /N6 T 2:30.05 1. &5 £ (EARE®R ) &3 8 2:25.50
2. &% g (HHS &T ) 3 4 2:21.24 2. fRBRBEOKED (RoEeEs ) =l 2 2:05.35
3. %k FE  (WUATH(S ) H2 6 2:25.91 3. &XEHF & (FARB® ) &3 3 2:06.05
4. ER fBR (HES &T ) 1 2 2:16.27 4. FiE ME (KHWSS ) =2 5 2:07.08
5. 5% BE#  (K#&ESS ) 2 3 2:20.76 5. Bl EF (EBEEE Yy &1 1 2:03.11
6. HUERERA (hhdppsc ) #H3 5 2:21.72 6. AKX Bt (SACOT ) 2 4 2:06.51
1. FHERE—H REARER ) =3 1 2:16.23 1. 21l ZEt Gl =) ) &l 6 2:07.42
8. kE 0.S.C ) 8 2:36.57 8. Bl XE GEARGEK ) ®2 7 2:11.84

448 &I B 448 b= ] Bl
1. EHEEHE (XYZRRF ) &3 7 2:16.94 1. I FE (bhdpsc ) &3 5 2:00.35
2./ EIE (K#ESS ) =2 6 2:15.45 2. &fE —% (Kpi#EmEs ) &1 7 2:00.93
3. & I (WF4vRTE44 ) ®3 2 2:13.64 3. AHE &t (Kot ER ) =2 2 1:56.83
4. kR BE (#-7ST0 ) 3 2:13.84 4. EF & (XY ZBIKF ) X1 1 1:53.35
5. INEF Xk (XY ZBIKF ) &3 1 2:10.15 5. Z#H EH (RoiEHES ) &2 3 1:56.84
6. R8s & (Kom@Ees ) =3 5 2:15.20 6. R 5 (WAHVATELS ) =16 2:00.39
1. 5% ME  (Ko#Ees ) &1 4 2:14.15 1. BF ZE (KatEmER ) =3 4 1:59.27
8. Al {E (&R ) &3 8 2:21.07 8. BX EE (XYZRBRF ) $3 8 2:01.87




No. 12 BF 100m Fpk&E B A LR
2R45
g2 1:00. 17 K& 1:02.84

148 EE =] 5#f &8 e
1. ( ) 1. ik #th (XYZRIFF ) H3 8 1:15.42
2. 5@ R&E (@S- C ) /6 6 1:49.98 2. BRE —#8  (XYZRIF ) #3 7 1:13.93
3. R EEH (RpmsSs ) /3 5 1:48.78 3. MEF K (D<HJISC ) #H:3 2 1:11.76
4. KK 1&E  (WUaft(y ) &1 2 1:35.77 4. i EE (EaEEE ) =2 4 1:13.09
5. Ik BJ (hbhdprpsc ) Bl 4 1:4565 5. &L HIF (BAS&T ) #3 3 1:12.39
6. AR¥ mR#E  (LAJISC ) /N33 1:44.13 6. ithig& K5 (KoM Es ) &2 5 1:13.18
1. @B KE GIF#AES ) &1 1 1:26.63 1. ®mXx % GBARE®& ) &1 6 1:113.43
8. ( ) 8. HE & (XYZRBRFE ) #H3 1 1:10.24
2% &I B 6 #H b= ] Bl
1. i £33 (KpAWss ) /N4 8 1:52.28 1. )11 BlFMAEE ) &2 5 1:07.14
2. B MK GEAREKR ) &2 5 1:34.32 2. &E#H sth (KHi#EmES ) =2 8 1:09.28
3.8k WA (aF=Xsm ) F2 3 1:32.59 3. & O (W$vAtt{4 ) 3 4 1:06.64
4. WX Ex (ks c ) /M6 2 1:30.50 4. EH HE (LAELWLSC ) X4 1 1:03.52
5. M K (WHVATE(4 ) /N5 6 1:34.35 5. it EE (KotEmER ) =2 3 1:05.15
6. NN BN (D<HJISC ) M5 1 1:25.92 6. HHE BH (XYZRF ) &2 2 1:05.13
1. 3B EFE WYvattd4s ) /N5 4 1:33.50 1. KXy —E (Kom&er ) 7 1:09.11
8. KM E3 (LA JSC ) N5 T 1:42.03 8. F#E & (EBEEE ) B2 6 1:08.72

No. 13 BF 100m N2754 B A LR B

X5
2 53.67 K&  54.56

38 &g B R 148 g 35|
1. i &FFE  (XYZRF ) &2 4 1:21.70 1. ( )
2. BB HEBE (hhdbwsc ) 1 £ 2. ( )
3. IRA & (K#ES S ) /6 7 1:31.33 3. XE =FiX (XYZBIF ) /M5 3 1:28.98
4. EBE M Uty ) /N6 3 1:25.45 4. f#=E BE (HEFks ) ®2 1 1:15.06
5. B FIE (BARRBEKRS ) 2 1:20.44 5. hE (XYZRIFF ) /5 2 1:26.07
6. BmAREZAN (ks c ) H2 1 1:19.09 6. ( )
1. BB BhY  (ROBE ) &1 5 1:30.52 1. ( )
8. N EH (HEHS&T ) @1 6 1:30.65 8. ( )
448 &I B 248 b= ] Bl
1. RBINEH (bh&Hpsc ) 3 4 1:18.36 1. #& o— (XYZRFF ) #1 5 1:12.01
2. 7l | (TST ) H2 3 1:17.78 2. EB Bl (#-7ST0 ) 3 7 1:14.04
3. Ml BX  (WHVAtt(4 ) =17 1:23.64 3. AE KT (ZARS® ) &3 4 1:08.31
4. H%FH = (W4vRtt44 ) ®3 1 1:16.50 4. BE K— (KFES S ) ®3 1 1:04.60
5. XA WA GEARBEKR ) &2 2 1:17.48 5. BEE E# (W$vAtt{4 ) 1 2 1:06.35
6. = WE  (uUAsc ) ®3 5 1:19.49 6. 2 B (luAxsc ) ®3 3 1:07.97
1. R AKX (KH@Wiss ) H1 6 1:19.89 1. Bl MEA (DKH&JSC ) B2 6 1:12.94
8. &K kK (#-78T0 ) /6 8 1:24.20 8. /NEF ABE  (XYZRBIFF ) /M5 8 1:19.72




No. 13 BF 100m /42754 B A LR
2R
2 53. 67 RE 54.56

348 EE =] 448 &8 e
1. FRE—H (BEARB® ) =3 6 59.57 1. E& %K (WAVATELS ) 2 6 1:09.00
2. BHEKE (XYzalg ) &3 3 57.91 2. g =2 (WA4vatt44 ) =2 5 1:07.66
3. &M EB— GZARE®R ) =2 4 58. 68 3. INEF Bk (XYZRFE ) &3 2 1:00.46
4. NiT Eth (€3 (=F:3:77 ) =11 56. 01 4. BF Ft (KoMEeEs ) &3 3 1:03.83
5. BBK ERL (Ro#EmEs ) &2 2 56.70 5. HE WME (KHi#EmEsS ) &1 1 1:00.36
6. 2@ 20t (Romes ) =1 b 58.79 6. 8@ Znt (KA Es ) &1 4 1:04.27
7. AR BX (€3 (=F:53:99 ) &1 7 1:00.26 7. chiEBRRA (hhdprpsc ) 3 T 1:10.64
8. WA &% (KHtEES ) 32 8 1:03.14 8. BmK M= (HrEFks ) X3 8 1:10.66

No. 14 BF¥ 100m &)< A LiRB No. 15 BF 50m HAE® R A L iRBE
2R 5 £RX 5
2 57.20 RE 57.99 =3 22.92 A& 23.00
148 &I B 148 b= ] Bl
1. ( ) 1. ( )
2. ( ) 2. ( )
3. Wk thth (fwater ) KHE 3. BE E2 (K#ES S ) /M3 1:05.29
4. 18K H® REARER ) B2 2 1:35.25 4. K#t FEHE (LUAJSC ) M 1 56.99
b, 1B% X (XY ZBIRF ) /6 1 1:30.69 5. @ HEX (K#ES s ) /N2 2 1:04.05
6. ( ) 6. ( )
1. ( ) 1. ( )
8. ( ) 8. ( )

248 & =] 248 &8 e
1. #2H# FiE (FESBXk= ) /M6 6 1:36.05 1. 7B #5480 (XYZRHIFF ) /M 6 48. 83
2. AR B (hmhvdpsc ) /6 4 1:28.52 2. 5H HF (LA JSC Yy h2 8 49 77
3. MFEHEKX (KHmsS s ) NS ZiE 3. #EE %X (K#ES S ) /N2 5 47. 81
4. BHE 1EEE (XY ZBIRF ) /M6 1 1:14.83 4. 7 i (Wa4vatt49 ) N2 T 49.22
5. 2R RZ (XY Z5IRF ) /N5 2 1:19.63 5. BX%X ¥ A (fE@AS C y N3 4 47.69
6. Hl 5 (luAJSC ) /M5 b 1:31.70 6. £ I\E (XY ZRIKF ) N2 3 47.12
FA--3 VN o (bhHhpsc ) /M6 3 1:26.62 7. #EDO g (DKHJIJSC ) M 1 44. 40
8. ( ) 8. kH FFE (WA4vatt4s ) N2 2 46. 52

34 &I B 3#H b= ] Bl
1. B HFD REARE® ) m2 6 1:18.65 1. IRE B# (K#ES s ) N2 8 48. 04
2. A% BhE (XKFES s ) /6 8 1:24.13 2. B m®mEE (XKFES s ) N2 6 44.95
3. g & (KpmsSs ) &1 1 1:09.77 3. &%k g (ba4vatt4s ) N33 42.39
4. WK HFEH (D<AHJISC ) H2 4 1:14.44 4. BEH —&) (XY ZBIRF ) N3 1 39.02
5. WWT #k#E W4V rtE44 ) 3 1:14.33 5. T BE— (SACOT ) M4 43.06
6. BB (BEES &T ) H3 2 1:12.62 6. FH FEIR (hHppsc ) N5 T 45 61
1. Bk RE (#-7ST0 ) &2 7 1:18.72 1. % D& (hhdHSC ) 2 5 44 87
8. A% AFH (E@ES-C ) ®2 5 1:18.45 8. MiF F|BA (KnmsSs ) N3 2 41.31




No. 15 BF 50m BB B A LR
2R45
g2 22.92 £  23.00
448 &g B R
1. T & (RHBEE ) &1 37.87
2. ARt RA (XY ZBIRF ) Ih2 5 40.53
3. B& IR (4-7ST0 ) /N5 4 40. 03
4. E¥ FEK (WA4vREE4 S ) N2 6 41.16
5. i # (LS C ) M6 3 38.93
6. WX T (ks c ) /N6 8 52.06
7. KR HExL (LLAJSC ) N2 T 41.19
8. KiEg #h#n (R8s ) &1 2 38.92
548 &I B
1. FE KiE (XY ZBIRF ) M3 38. 61
2. £% BEA (IUAJSC ) /M3 b 40. 41
3. Efp F#  (uAXscC ) /N6 8 43.19
4. FE RE (k@S- C ) N6 2 37.09
5. A Y& (HES &T ) A1 34,51
6. B 3 (KHWSS ) M6 40. 57
1. &g Wk (XY ZBIRF ) M4 39. 42
8. R EE (Kp/mWss ) N T 42.62
6 %8 &g B R
1. K&t #l#E (LLAJISC ) N 4 39.63
2. Ik BH (hhdppsc ) w1 8 44.54
3. &EH A (LLAJSC ) N T 40.75
4. EH % (bhdkpsc ) F1 T 36.83
5. miE XkE  (KHWmSsS ) M6 39.73
6. WH IS (rEFiks ) /M5 39. 67
1. WX HBZE (SACOT ) /M3 3 39. 62
8. &k I (hbhhpsc ) /M3 2 39.18
7% &I B
1. & BEX (WA4vREE4 S ) /58 45.19
2. ED &% (KHmsS s ) N5 4 36.78
3. Mk X (Kp@Wss ) N5 3 36. 49
4. A% WmE (K#ES S ) /M6 37.98
5. LA #Eth (luAxsc ) M6 7 39.43
6. B Rz (hddppsc ) 6 2 36. 04
1. A% k& (Ls@S-C ) N6 T 33.95
8. & | (UAJSC ) /M55 37.69

8#

®© N ook =

o+l

© N oW

10

®© N ook =

11

© NS R W=

W

aiE

#Hth
=3

[ BB FAER

|
ek
JIIEN
hE
=3

JIH
ik
Wiz

g
R
#X
e
8.4

530
—3
TN

HFEXEX

M
M
TG

#
E57h 3
RH

BB

#

=

XA
1L
At
f=H
INEP
AR
=l

#

R
1T
INEF
£k
mE

#A 3T
rE

EHE

Fi:
2210
KBt
®KE

25

BA
Et
P

)

2

EAREZIT

R
i L

18

EZON

(fFwater
(KHhiss
(#ZSS
(K#ES S
(XY Z3IRF
(KHhiss
(XY Z3IRF
(A@AS&T

(A@AS&T
(XY ZRIRF
(S Proret]
(Kahiss
(2<H#JISC
(LLuAJSC
(A@AS&T
(AES&T

(W#4vATT4H
(a+rz=zXksn
(hhdHrpsc
(KHMsSs
(ar=zXkyn
(XY ZBIRF
(W#4vATT4H
(LA JSC

(KHMsSs
(luAxsc

(A@AS&T
(ESroret]
(S Proret]
(luAxsc

(XY ZRIKF
(ES v et]

— N

IS
H1
D
N
H1
INS
N

1
H1
D
NG
th3
NG
th2
NG

H1
N
N
H1
N
D
H1
Ihh

I\S
NG
H1
NG
)
H2
H1
IS

b=y |

B ]
31.83

33. 04

| w

35.23

zH

30. 88

35.23

33.91

ol B O =

34.14

ik
=

=TS
34.39

34.18

31. 81

32.08

32.92

32.30

34. 36

~N oo Wl s N = 01|

34.38

i
=

B ]
32.53

33. 40

32.92

32.20

32.60

30. 47

30.43

=N W o N

34. 86




No. 15 BF 50m BB B A LR
2R45
g2 22.92 £  23.00
12%#8 &g i3]
1. RO %=t  (hh&HWSC ) /6 3 31.28
2. BIBKER (@F=Ky» ) tl 4 32.78
3. ZBEHZER (ESPPvvit] ) Bl 1 30. 22
4. % shE  (K#&ESS ) /N6 6 33.62
5. ERAKRK— (K5 #BiE ) &2 7 34.13
6. WF ERR  WHVAri(4 ) 12 31.00
7. AiT B (SAcCOT ) /N5 5 33.57
8. ImHE £ (KFES S ) /N6 8 34.29
1348 & I8 B
1. 828R & (@+zXxy ) F1 4 30.39
2. WA &z (SACOT ) 1 7 30.55
3. X #mE BlFF@AEE ) =1 2 29.53
4. £t% BE (@F=XKH ) H111 29.43
5. &% ®3h (KH8EBESs ) 52 8 31.77
6. HAEHN (KESS ) $2 3 29. 62
7. ¥AEEAKRES  (SACOT ) H3 5 30. 41
8. tkz# % (AHS&T ) $3 6 30. 45
1448 & B
1. M BE  (aFrzks ) $3 3 28. 80
2. BE #th (ESMrvrit] ) ®2 2 28. 66
3. =i WE  (uAxsc ) $3 6 29. 31
4. ik BX (@FIKHp ) $h2 4 28.97
5. Bt B®E  (bhadbrpsc ) &1 8 30. 34
6. HEF &= (ESVrvrit] ) ®3 5 29.19
1. 8K #£K (K#ESsS ) &1 7 30. 11
8. & BE  (bhdHSC ) H3 1 28.25
1548 & I8 B
. HR [E (KRHOBS ) =16 29.09
2. A\ HEH (AES&T ) $3 4 28.29
3. &k 2E (WA4vREE4 S ) M6 3 28.03
4. R fath (XY ZRBIRF ) B3 1 26.87
5. @il EBEX (ZSVrvrit] ) 3t 7 29.19
6. Bl X GEARER ) &2 2 27.19
1. ##BA =KX  (KESS ) H3 5 29.00
8. & # (UAxsc ) $3 8 29. 41

1648

®© N ook =

L]
Tk
IR
(=
K#
KE
X8

&0

174

© N oW

®© N ook =

£
ZFS
®k
R
FK
& #B
PR

E2)
Ba
5
=X
FI
e
BN
K3

pa1p

EE
me
FEbs
=354
s
=]

=<7~

(ZARSK
(a+rzksn
(ar=zXkyn
(E{aEs
(XY ZRIRF
(0.5.C

(W#4vATT4H
(W#4vAT44

(E{aEs
(ROHES
(XY ZRIKF
(ESroret]
(S Proret]
(ROHES
(KBS S
(Kahiss

(RIFFAE=
(XY ZRIKF
(ROHES
(XY ZRIKF
(E{aEe
(RN EHES
(K#fas s
(#-7ST0

=3
H1
#3
=1

th3

th2
th3

=2
=3
#3
H2
=1
=2
§2

=2

=2
#3
=2
PN
=1
=1

=2

i
=

B ]
25.67

26. 06

25.23

26.52

25.23

25.53

26.19

O S| W == P

26. 84

ik
=

=TS
25.43

25.25

25.10

23.52

25.317

25.98

25.57

N NJ/olol —= W s~

25.07




